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[1] PCB¥H 1,34 14,000 %20 52
[1-1]F/7mubE 7=/ 1,34 nd 0.8 2.0
[1-2] Y7 mm 7 ==L 1,34 110 1 4
[1-3] Y Zomr b7 ==/l 1,34 420 3 8
[1-4] 7 FF 7 nm 7 ==L 1,3,4 1,400 2 4
[1-4-11 27T F—PCBD > H3344-FT kTt 7==,L (#77) 1,34 27 1 4
[1-4-21 275 F—PCBD H H 34457 hT7/7mnb 7 ==/ (#81) 1,34 nd 2 4
[1-51 %277 =/ 1,34 2,800 2 6
[1-5-11 275 F—PCBD 5 5 23344~ 7nnt 7 ==/l (%105 1,3,4 64 1 3
[1-5-2] 275 F—PCBD H 5 2344 54 7nnt 7 ==/ (#114) 1,34 7 1 4
[1-5-3] 275 F—PCBD 5 5 23 44 5- % 7nnt 7 =)L (#118) 13,4 450 2 6
[1-5-4] 275 F—PCBD 9 H 2344 5-XF7nn b7 x=/L (#123) 1,34 11 1 3
[1-5-51 275 F—PCBD 9 H 33 44,5 F7nn 7=/ (#126) 1,34 3.7 0.9 2.2
[1-6] ~F¥ 27 oo b7 ==/ 1,34 6,800 2 5
[1-6-11 =75 F—PCBD 5 5 233 44,5-~FH 7ot 7=/l (£156) 1,3,4 36 1 3
[1-6-2] =75 F—PCBD 5 5 233445 ~FH oot 7 ==, (#157) 1,3,4 19 2 4
[1-6-3] 27T F—PCBD 5 5 2,3 4,4,55-~FH 7ot 7 ==/l (#167) 13,4 36 2 5
[1-6-4] 27 FF—PCBD H 5 3344 55-~FH%7upt 7 ==/ (£169) 1,34 nd 2 4
[1-7] ~7 %7 ar b7 ==L 1,34 1,900 2 6
[1-7-11 275 F—PCBD 5 5 2,233 44,5-~F 4 7ot~ ==/, (£170) 1,34 35 2 6
[1-7-2] 275 F—PCBD 5 5 2,2' 3,44 55-~F 4 7ot~ ==/, (£180) 1,3,4 190 2 5
[1-7-3] 275 F—PCBD H © 23,3 44 55-~FF7uut 7=/ (#189) 1,34 6 2 6
[1-8] A7 # 7 nm 7 = =)L 1,3,4 110 2 5
[19] /F 27 mmbE 7 ==L 1,34 nd 2 5
[1-10] FHZ v 7 ==L 1,34 nd 3 7
[2]HCB (~FH#27 oo ¥r) 1,34 35 2 5
[6] DDT4H 1,34 1,500 ¥43 X312
[6-1] p,p'-DDT 1,3,4 180 1 3
[6-2] p,p'-DDE 13,4 1,200 1 3
[6-3] p,p'-DDD 1,34 57 0.5 13
[6-4] 0,p'-DDT 1,34 44 1 3
[6-5] 0,p'-DDE 1,34 24 0.6 1.5
[6-6] 0,p'-DDD 1,3,4 23 0.2 0.6
[7] 7 v V7 A 1,34 5,900 HX9 #3622
[7-1]cis-Z7 v VT 13,4 2,900 2 4
[7-2] trans-Z7 B LT v 1,34 760 1 3
[7-3] A F> 7 mLsF 1,34 630 3 8
[7-4] cis-/ F 2 1)L 1,34 440 1 3
[7-5] trans- / F~ 2 & )b 1,3,4 1,200 2 4
[8] ~7 % 7 aV¥A 1,3,4 350 ¥¥2.9 ¥%8.4
[8-1] ~T % 7L 1,3,4 3 1 3
[8-2] cis~TF X 7 mLERF LR 13,4 340 0.9 2.4
[8-3] trans-~7"% 7 1 L TRF T K 1,34 5 1 3
[11-1] a-HCH 1,34 35 1 3
[11-2] B-HCH 1,3,4 42 1 3
[11-3]y-HCH (314 : U >5 ) 1,3,4 18 1 3
[11-4] 8-HCH 1,3,4 tr(2) 1 3
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[12] 7 avF oy 1,2,5 nd 23 5.9
[13] ~FHToEL7 ==/ 1,34 nd ¥K10 X324
[13-112,2'4,4'5,5-~% T nEE7 =z =/L (#153) 1,34 nd 2 4
[13-2]12,2'4,4'5,6-~F 7ot 7 ==L (#154) 1,34 nd 2 5
[13-3]12,2'4,4.6,6-~F 7ot 7 ==L (#155) 1,34 nd 2 5
[13-4]2,3,3' 44,5-~FH 7 E 7 = =/L (£156) 1,34 nd 0.7 1.9
[13-5]3,3'4,4'5,5-~FH 7oL 7 ==/l (#169) 1,3,4 nd 3 8
[4] ARV T uEY T z=ro—F NV (REHERAPHI0ETOHD) 1,34 tr(190) X150 %3%400
[14-1]1F F 57 REY T ==L —F LI 1,34 88 16 43
[14-1-112,244-F F 5708V 7 = =)Lz —F )L (#47) 1,34 88 16 43
[14-2] R # T EY T = =T —F LI 1,34 46 6 14
[14-2-112,2',4,4,5-2 4 70 EY 7 = =)L =—F /L (#£99) 1,34 33 6 14
[14-3] ~FH T rEY T = =L —T L 1,34 26 3 8
[14-3-1]2,2'4,4'5,5-~F 7T 1EP 7 ==L —7 /L (#153) 1,34 tr(4) 3 8
[14-3-2]2,2'4,4'5,6-~F T mET 7 ==L —7 /L (#154) 1,34 tr(4) 2 5
[14-4) ~THTuETPT 2 =)b—T )V 1,34 tr(10) 10 30
[14-4-112,2'3,3'4,5.6-~7 4 70 &7 = =/Lx—F /)L (#175) KO 1,34 nd 10 30
[14-4-212,2'3,44',56-~7H 70tV 7 = =)L=—7 /) (#183) OHFHIE
[14-5]1 A7 4 7T aEY 7 = =)L =—F )LFH 1,34 tr(4) 4 11
[14-6] / F7REY T 2 =)L=—F LA 1,34 tr(20) 10 30
[14-71THT7aEYT = =)LT—T )L 1,3,4 nd 97 270
[15] v 7 nAtats % AR (PFOS) 1,34 110 9.6 25
[16] v 7 A4 % ik (PFOA) 1,34 tr(25) 9.9 26
(171X %7 1,3,4 21 0.7 1.9
[19] b U ZF LA XLEW 1 30,000 160 420

3 16,000

5 13,000
[20] RV 7 ==L X X{tEW 1 2,700 110 270

3 2,500

5 2,600
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